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1.	Trek and Taffy rode ...
a. A bike
b. The bus
c. In the car 
d. Horses

2.	They saw a dog ...
a. Chasing a squirrel
b. Running
c. Jumping
d. Chasing the mailman

3.	They saw men ...
a. Running
b. Talking
c. Walking
d. Sitting

4.	Trek and Taffy saw ...
a. Snow
b. Trucks
c. Balloons
d. Birds

5.	What color is the bus?

6.	Were Trek and Taffy the only passengers 
on the bus?

_____	 1.	They saw three balls falling.

_____	 2.	They saw five hats blown away.

_____	 3.	There wasn’t much to see in the 
city.

_____	 4.	They saw three men running.

_____	 5.	They saw six dogs.

_____	 6.	They saw one bird.

QUESTIONS

TRUE OR FALSE?

WELCOME TO READING

The Bus Ride
Trek and Taffy go for a bus ride!  
Read The Bus Ride to learn more.

What did you learn?
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ANSWERS

TRUE OR FALSE? ANSWERS

1.	b. The bus. According to page 1, we know 
that “Here comes the bus. This bus is for us.” 
So, the correct answer is B. 

2.	c. Jumping. According to page 3, we 
know that “We see one dog jumping.” So, the 
correct answer is C.

3.	a. Running. According to page 4, we 
know that “We see two men running.” So, the 
correct answer is A.

4.	d. Birds. According to page 6, we know 
that “We see four birds flying.” So, the correct 
answer is D.

5.	As you can see on page 1, the bus is green.

6.	No, as you can see on page 8, there was at 
least one other passenger on the bus.

1.	True. According to page 5, we know that 
“We see three balls falling.” So, the correct 
answer is True.

2.	True. According to page 7, we know that 
“We see five hats blowing away.” So, the 
correct answer is True.

3.	False. According to page 2, we know that 
“There is a lot to see. Watch with me.” So, the 
correct answer is False.

4.	False. According to page 4, we know that 
“We see two men running.” So, the correct 
answer is False.

5.	True. According to page 3, we know that 
“We see one dog jumping.” So, the correct 
answer is True.

6.	False. According to page 6, we know that 
“We see four birds flying.” So, the correct 
answer is False.


